
Subjective C - Bayesian ) view of probabilities
we have seen the subj. view of card . pools .

Frequentist view : n experiments

I I n . PIF) many
times

EF = n . P ( EF) many times

Ignore outcomes wet F
.

Among the n - PCF) many F - outcomes
,

there are n PCEF) many

EF - outcomes
n . p(EF) PCEF )

⇒ PCE IT) =-= -

u . PCI ) PCT)



Example 1L
-

Box with 32 transistors :

20 KorKing ,
8 Earthy working ,

4 deficient

Exp : Choose A transistor
.

Suppose it does not fail
.

What is the pub .

that it is working ?

Three events : W
,
P
,
D l pick a socking , . . .

transistor)
Z o

P (WII) = 1¥ = .

-

= .

=
-20=-5

PCI) PCWup) -28 28 7

32

PCEF)
P ( El F) =-

PCF)
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Quiz 8 : Champions teaching the face
- -

winning the

PC Champions) = p ,# ← thee

w) = PINIF) PCI)

=
.
5 x

.
2 = 0.1
=

PIF ) =
. 2

PCWIF) =
. 5

PCWIF) = PCWFIPCF
)

⇒ P (WI F) Pt) = Pf WF)



Bayes ' Formula -
-
-
- E F

E. I events ⇒ E = EF EE \ I
⇒ PCE ) = PCE F ) t PCE E) -EF

=P ( El F) PCI ) + PCEII ) PCI)
Heke : PCE ) can be computed by special case of the law of

conditioning on some I total probability ( LOTP)
R

Example 15 Insurance company : People are k taker (30%)
- - -

-

or not
. Every year , 40% of risk lakes have an qfde.at,

only 20% of non- Nsk takers .

What is PCA) ?

PCA) = P(AIR ) PCR) t RAIE) PCB)

=
.
4 x

. 3 t .

2x
.
7 =

.

12 t . 14 = 0.26



Kp darting beliefs in the presence of new information

E-xaueple.ly : Suppose , a client has an accident
.

What is the prob .

this was a n3ktaker?_
-

= ME, - inked) Bayesian

Remember : €
PCdR) PIRA) -

4 x.3
PCA IR) = - = -

=
-

PCR) PCR)
0.26

⇒ PIRA ) -

- PC AIR ) PCR) =
=

-162=93--0.46



Bayes ' Formula
PCE I F) PIF)PCF IE ) = -

PCE)

Quiz 9 : Testing for a Disease

D person has disease J test is positive

PITI D) =÷ PCJIJ) = PCD) =
-1

#
too

PCDIT) =¥ =

=
-1

PIT) # 2

PCT) =PfJ1D7PCD1tpgy@gpcpgTF-Eo.ootE.E
.

'
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